BX—TIk2 (A 4RHK

SHM2FE11AH
HESMETXRAKE ERKEFABRERRESE
Bk 9:00
KERBRHERERSEZE (ERSFKS EXKHF R K ) )
e |KBE E| pH [FLHV|SEE| %K |1BtY| & £
SR & B (4> i |
c | ¢ | E me/l | mg/1 | mg/1 | mg/1 | mg/I | mg/1 | BE)

1 iR 13.5| 13.8| 14.6| 7.71 19
2 = 16.0] 13.7 9.7 17.86 15
3 & 18.1 14.5| 18.6| 7.75 30
4 & 15.0[ 15.3] 33.1] 17.81 48
5 & 12.7 13.9] 22.4] 7.98 41
6 = 12.3] 13.0/ 19.6| 7.83 40
Ji iR 15.0[ 13.8] 11.6] 7.97 27
8 = 17.01 14.0| 11.5] 8.05 116
9 = 15.9] 14.2| 66.5| 7.90 128
10 & 12.7 13.8| 26.8] 7.78 43
11 & 11.9] 12.8] 15.8| 7.82| 52.0[ 66.0 146 6.6 0.88 0.03 41
12 & 10.0[ 12.5] 13.2| 7.85 40
13 & 15.0[ 12.8] 11.8] 7.83 32
14 & 16.0[ 13.4] 15.0/ 7.91 30
15 & 12.0[ 12.8] 13.5] 8.11 25
16 & 16.0[ 12.5 8.3] 7.92 15
17 & 15.9[ 13.3 6.7 8.07 22
18 = 16.8| 14.0 9.7 7.99 27
19 = 20.0] 14.5 7.91 7.91] 56.0/ 66.0 150 1.5 0.97 0.04 24
20 = 22.11 15.5] 17.2]1 7.90 22
21 & 16.1[ 15.5] 13.8] 7.92 58
22 & 12.0 14.5] 12.8] 8.15 25
23 & 17.5] 13.5 6.6/ 7.94 11
24 = 12.8] 13.7 7.1 8.01 13
25 = 12.0] 13.1 7.8/ 8.00 26
26 & 13.2[ 13.2 7.8 7.91 33
27 & 13.8] 13.4 7.5 8.01 20
28 & 17.0[ 13.4 6.5 8.00 17
29 & 10.5[ 12.5 5.5 7.91 17
30 = 8.2 11.0 5.2 1.94 14

FEi5 14.6| 13.6] 14.51 7.93| 54.0[ 66.0 148 7.1 0.93 0.04

=BE 22 15.5] 66.5] 8.15] 56.0| 66.0 150 1.5 0.97 0.04

= 1K 8.2 1 5.2 7.75 52.0] 66.0 146 6.6 0.88 0.03




SHM2E511AS

REEAETIRA/KE KEABRERHKSE (BRFKS)
kB 9:00

KERABBERREE (ERFKS EaKith (B2 K ) )
e |KBE E| pH [FLHV|SEE| %K |1BtY| & £
SR & B (4> 5o |® %
C C E mg/l {mg/l {mg/l [ mg/l | mg/l mg/|

1 & 13.5] 13.8 2.2 17.38

2 = 16.0| 13.8 2.8 7.42

3 & 18.1] 14.1 2.5 7.43

4 & 15.0] 14.5 2.4 7.34

5 & 12.7] 13.9 2.1 7.45

6 = 12.3] 12.6 2.6/ 7.38

1 & 15.0] 13.6 1.8] 7.37

8 = 17.0] 13.9 2.4 7.55

9 = 15.9] 14.0 2.3 17.47

10 & 12.7] 13.6 2.7 7.51

11 & 11.9] 12.5 2.8/ 7.60] 49.0] 65.0 121 1.5 0.08| <0.02
12 & 10.0] 12.2 2.6/ 7.38

13 & 15.0] 12.2 2.5 17.37

14 & 16.0] 13.2 2.5 17.38

15 & 12.0] 13.0 2.1 7.45

16 & 16.0] 13.0 2.4 7.31

17 & 15.9] 12.8 2.0 7.54

18 = 16.8| 13.2 2.3 7.49

19 = 20.0{ 13.9 2.0 7.42| 49.0] 62.0 135 7.6 0.06| <0.02
20 = 22.11 15.1 1.9] 7.43

21 & 16.1] 16.2 2.0 7.37

22 & 12.0] 15.2 2.5 7.42

23 & 17.5] 14.4 3.1 7.40

24 = 12.8] 13.3 2.9 7.51

25 = 12.0] 13.9 2.5 7.46

26 & 13.2] 13.1 2.5 17.38

27 & 13.8] 13.4 2.2 17.46

28 & 17.0] 13.8 2.9/ 7.58

29 & 10.5] 13.1 2.5 7.45

30 = 8.2 11.8 3.1 7.47

Ty 14.6] 13.6 2.4 7.44] 49.0[ 63.5 128 7.6 0.07( <0.02
xe 22 16. 2 3.1 7.60] 49.0] 65.0 135 7.6 0.08[ <0.02
=K 8.2 11.8 1.8 7.31| 49.0] 62.0 121 1.5 0.06| <0.02




